

DMC No. 000001
Roll No. 23257001
Regn. No. 23-DEO-460

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : JAPREET KAUR
Father's Name : TEJPAL SINGH KOCHHAR
Mother's Name : INDERJEET KAUR
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	67 15	40AG	100	A+	9	04.0	36.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	54 30	40AG	100	A+	9	04.0	36.0
3	MBADBA-401 TIME SERIES DATA ANALYSIS	62 30	40AG	100	O	10	04.0	40.0
4	MBADBA-402 APPLIED MULTI VARIANT ANALYSIS	65 29	40AG	100	O	10	04.0	40.0
5	MBADBA-403 FINANCIAL MODELING	66 29	40AG	100	O	10	04.0	40.0
6	MBADBA-404 PREDICTIVE ANALYSIS FOR BUSS DECISION	69 29	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	45	20AG	050	O	10	02.0	20.0
	TOTAL	0590		0650			26.0	252.0
	MARKS OF SEM 1 TO 3	1568		1900			076.0	0704.0
	GRAND TOTAL	2158		2550			102.0	956.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.69
CGPA 9.37

SEMESTER	FIRST	SECOND	THIRD
TOTAL CREDITS	24.0	24.0	28.0
SGPA	8.83	9.17	9.71

DATED : FEB 02,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000002
Roll No. 23257002
Regn. No. 23-DEO-461

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : PREETAM
Father's Name : KRISHAN KUMAR
Mother's Name : BIMLA DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	57 29	40AG	100	O	10	04.0	40.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	53 30	40AG	100	A+	9	04.0	36.0
3	MBADMM-402 BUSINESS MARKETING	56 27	40AG	100	A+	9	04.0	36.0
4	MBADMM-403 SERVICE MARKETING	55 26	40AG	100	A+	9	04.0	36.0
5	MBADMM-404 STRATEGIC MARKETING	59 26	40AG	100	O	10	04.0	40.0
6	MBADMM-405 RURAL & AGRIBUSINESS MARKETING	60 29	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	32	20AG	050	B+	7	02.0	14.0
	TOTAL	0539		0650			26.0	242.0
	GRAND TOTAL	0539		0650			26.0	242.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.31

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000003
Roll No. 23257003
Regn. No. 23-DEO-462

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : BABANPREET KAUR
Father's Name : PRABHJIT SINGH
Mother's Name : MOHINDER KAUR
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	58 25	40AG	100	A+	9	04.0	36.0
2	MBAD-402 ENTREPRENURSHIP DEVELOPMENT	44 19	40AG	100	B+	7	04.0	28.0
3	MBADFM-401 FINANCIAL ENGINEERING	61 26	40AG	100	O	10	04.0	40.0
4	MBADFM-402 PROJECT PLANNING & MANAGEMENT	62 27	40AG	100	O	10	04.0	40.0
5	MBADFM-403 BEHAVIORAL FINANCE	63 27	40AG	100	O	10	04.0	40.0
6	MBADFM-406 PRIVATE EQUITY & WEALTH MANAGEMENT	63 27	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0650			26.0	224.0
							24.0	224.0

RESULT : RE - TILL JUN- 2027 IN : MBAD-403

DATED : FEB 02,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000004
Roll No. 23257004
Regn. No. 23-DEO-463

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : TRIPTI VERMA
Father's Name : RAJEEV VERMA
Mother's Name : SARIKA VERMA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	41 18	40AG	100	B+	7	04.0	28.0
2	MBAD-402 ENTREPRENURSHIP DEVELOPMENT	44 19	40AG	100	B+	7	04.0	28.0
3	MBADHR-401 TRAINING & DEVELPMENT	55 24	40AG	100	A+	9	04.0	36.0
4	MBADHR-402 STRATEGIC HUMAN RESOURCE MANAGEMENT	48 21	40AG	100	A	8	04.0	32.0
5	MBADHR-403 CHANGE MGT & ORGANISATIONAL DEVELOPMENT	49 21	40AG	100	A	8	04.0	32.0
6	MBADHR-406 TALENT ACQUISITION & PERFORMANCE MGT	AB AB F	40AG	100	F	0	04.0	0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0650			26.0	156.0
							20.0	156.0

RESULT : RE - TILL JUN- 2027 IN : MBADHR-406 MBAD-403

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000005
Roll No. 23257005
Regn. No. 23-DEO-464

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : RAJAT YADAV
Father's Name : AJAY KUMAR
Mother's Name : SARITA DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	64 15	40AG	100	A+	9	04.0	36.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	54 29	40AG	100	A+	9	04.0	36.0
3	MBADBA-401 TIME SERIES DATA ANALYSIS	65 28	40AG	100	O	10	04.0	40.0
4	MBADBA-402 APPLIED MULTI VARIANT ANALYSIS	66 27	40AG	100	O	10	04.0	40.0
5	MBADBA-403 FINANCIAL MODELING	66 29	40AG	100	O	10	04.0	40.0
6	MBADBA-404 PREDICTIVE ANALYSIS FOR BUSS DECISION	67 28	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0650			26.0	232.0
							24.0	232.0

RESULT : RE - TILL JUN- 2027 IN : MBAD-403

DATED : FEB 02,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000006
Roll No. 23257006
Regn. No. 23-DEO-465

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : AADITYA NA SHARMA
Father's Name : BHARAT BHUSHAN
Mother's Name : USHA SHARMA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	59 25	40AG	100	A+	9	04.0	36.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	55 24	40AG	100	A+	9	04.0	36.0
3	MBADIT-401 DATA WAREHOUSING & DATA MINING	57 24	40AG	100	A+	9	04.0	36.0
4	MBADIT-402 SOFTWARE ENGINEERING	58 25	40AG	100	A+	9	04.0	36.0
5	MBADIT-405 E-COMMERCE	57 24	40AG	100	A+	9	04.0	36.0
6	MBADIT-406 INFORMATION SECURITY & CYBER LAWS	52 22	40AG	100	A	8	04.0	32.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	32	20AG	050	B+	7	02.0	14.0
	TOTAL	0514		0650			26.0	226.0
	GRAND TOTAL	0514		0650			26.0	226.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.69

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000007
Roll No. 23257007
Regn. No. 23-DEO-466

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : YUGRAJ SINGH
Father's Name : KIRPAL SINGH
Mother's Name : KANWALJEET KAUR
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	64 30	40AG	100	O	10	04.0	40.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	52 29	40AG	100	A+	9	04.0	36.0
3	MBADIT-401 DATA WAREHOUSING & DATA MINING	58 29	40AG	100	O	10	04.0	40.0
4	MBADIT-402 SOFTWARE ENGINEERING	52 29	40AG	100	A+	9	04.0	36.0
5	MBADIT-405 E-COMMERCE	54 29	40AG	100	A+	9	04.0	36.0
6	MBADIT-406 INFORMATION SECURITY & CYBER LAWS	53 28	40AG	100	A+	9	04.0	36.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0650			26.0	224.0
							24.0	224.0

RESULT : RE - TILL JUN- 2027 IN : MBAD-403

DATED : FEB 02,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000008
Roll No. 23257008
Regn. No. 23-DEO-467

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : NAVYA ANEJA
Father's Name : PUNEET ANEJA
Mother's Name : KIRAN ANEJA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	65 30	40AG	100	O	10	04.0	40.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	51 26	40AG	100	A+	9	04.0	36.0
3	MBADFM-401 FINANCIAL ENGINEERING	65 29	40AG	100	O	10	04.0	40.0
4	MBADFM-402 PROJECT PLANNING & MANAGEMENT	64 30	40AG	100	O	10	04.0	40.0
5	MBADFM-403 BEHAVIORAL FINANCE	67 29	40AG	100	O	10	04.0	40.0
6	MBADFM-406 PRIVATE EQUITY & WEALTH MANAGEMENT	65 30	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	35	20AG	050	A	8	02.0	16.0
	TOTAL	0586		0650			26.0	252.0
	MARKS OF SEM 1 TO 3	1554		1900			076.0	0696.0
	GRAND TOTAL	2140		2550			102.0	948.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.69
CGPA 9.29

SEMESTER	FIRST	SECOND	THIRD
TOTAL CREDITS	24.0	24.0	28.0
SGPA	8.67	9.00	9.71

DATED : FEB 02,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000009
Roll No. 23257009
Regn. No. 23-DEO-468

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : RAMANDEEP KAUR
Father's Name : BALJEET SINGH
Mother's Name : JASPREET KAUR
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	61 14	40AG	100	A+	9	04.0	36.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	46 22	40AG	100	A	8	04.0	32.0
3	MBADHR-401 TRAINING & DEVELOPMENT	48 29	40AG	100	A+	9	04.0	36.0
4	MBADHR-402 STRATEGIC HUMAN RESOURCE MANAGEMENT	51 21	40AG	100	A	8	04.0	32.0
5	MBADHR-403 CHANGE MGT & ORGANISATIONAL DEVELOPMENT	55 26	40AG	100	A+	9	04.0	36.0
6	MBADHR-406 TALENT ACQUISITION & PERFORMANCE MGT	49 28	40AG	100	A+	9	04.0	36.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0650			26.0	208.0
							24.0	208.0

RESULT : RE - TILL JUN- 2027 IN : MBAD-403

DATED : FEB 02,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000010
Roll No. 23257010
Regn. No. 23-DEO-469

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : ADITI GUPTA
Father's Name : VINAY GUPTA
Mother's Name : NEELAM GUPTA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	56 14	40AG	100	A	8	04.0	32.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	48 24	40AG	100	A	8	04.0	32.0
3	MBADHR-401 TRAINING & DEVELOPMENT	57 24	40AG	100	A+	9	04.0	36.0
4	MBADHR-402 STRATEGIC HUMAN RESOURCE MANAGEMENT	42 25	40AG	100	A	8	04.0	32.0
5	MBADHR-403 CHANGE MGT & ORGANISATIONAL DEVELOPMENT	39 26	40AG	100	A	8	04.0	32.0
6	MBADHR-406 TALENT ACQUISITION & PERFORMANCE MGT	55 17	40AG	100	A	8	04.0	32.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0650			26.0	196.0
							24.0	196.0

RESULT : RE - TILL JUN- 2027 IN : MBAD-403

DATED : FEB 02,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000011
Roll No. 23257011
Regn. No. 23-DEO-470

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : YASH BATRA
Father's Name : SHYAM BATRA
Mother's Name : LATA BATRA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	57 28	40AG	100	O	10	04.0	40.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	52 28	40AG	100	A+	9	04.0	36.0
3	MBADMM-402 BUSINESS MARKETING	54 27	40AG	100	A+	9	04.0	36.0
4	MBADMM-403 SERVICE MARKETING	57 28	40AG	100	O	10	04.0	40.0
5	MBADMM-404 STRATEGIC MARKETING	51 28	40AG	100	A+	9	04.0	36.0
6	MBADMM-405 RURAL & AGRIBUSINESS MARKETING	57 29	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	28	20AG	050	B+	7	02.0	14.0
	TOTAL	0524		0650			26.0	242.0
	GRAND TOTAL	0524		0650			26.0	242.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.31

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____

(Clerk)

(Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000012
Roll No. 23257012
Regn. No. 23-DEO-471

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : RAHUL SHARMA
Father's Name : JOGINDER SHARMA
Mother's Name : SHEELA SHARMA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	65 30	40AG	100	O	10	04.0	40.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	61 30	40AG	100	O	10	04.0	40.0
3	MBADIT-401 DATA WAREHOUSING & DATA MINING	64 29	40AG	100	O	10	04.0	40.0
4	MBADIT-402 SOFTWARE ENGINEERING	65 29	40AG	100	O	10	04.0	40.0
5	MBADIT-405 E-COMMERCE	62 28	40AG	100	O	10	04.0	40.0
6	MBADIT-406 INFORMATION SECURITY & CYBER LAWS	59 29	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0650			26.0	240.0
							24.0	240.0

RESULT : RE - TILL JUN- 2027 IN : MBAD-403

DATED : FEB 02,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000013
Roll No. 23257013
Regn. No. 23-DEO-472

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : GYANENDRA
Father's Name : ATTAR SINGH LOHMOR
Mother's Name : SHYAMA DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	32 29	40AG	100	B+	7	04.0	28.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	40 29	40AG	100	A	8	04.0	32.0
3	MBADIT-401 DATA WAREHOUSING & DATA MINING	33 28	40AG	100	B+	7	04.0	28.0
4	MBADIT-402 SOFTWARE ENGINEERING	28 29	40AG	100	B+	7	04.0	28.0
5	MBADIT-405 E-COMMERCE	37 26	40AG	100	B+	7	04.0	28.0
6	MBADIT-406 INFORMATION SECURITY & CYBER LAWS	35 25	40AG	100	B+	7	04.0	28.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	43	20AG	050	O	10	02.0	20.0
	TOTAL	0414		0650			26.0	192.0
	GRAND TOTAL	0414		0650			26.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.38

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____

(Clerk)

(Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000014
Roll No. 23257014
Regn. No. 23-DEO-473

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : NAMANPREET SINGH
Father's Name : SARABJIT SINGH
Mother's Name : DALJINDER KAUR
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	63 27	40AG	100	O	10	04.0	40.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	57 29	40AG	100	O	10	04.0	40.0
3	MBADMM-402 BUSINESS MARKETING	61 28	40AG	100	O	10	04.0	40.0
4	MBADMM-403 SERVICE MARKETING	58 27	40AG	100	O	10	04.0	40.0
5	MBADMM-404 STRATEGIC MARKETING	61 28	40AG	100	O	10	04.0	40.0
6	MBADMM-405 RURAL & AGRIBUSINESS MARKETING	62 28	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	35	20AG	050	A	8	02.0	16.0
	TOTAL	0564		0650			26.0	256.0
	GRAND TOTAL	0564		0650			26.0	256.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.85

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000015
Roll No. 23257015
Regn. No. 23-DEO-474

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : ROHIT
Father's Name : KESHO RAM
Mother's Name : ROSHNI DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	64 15	40AG	100	A+	9	04.0	36.0
2	MBAD-402 ENTREPRENURSHIP DEVELOPMENT	55 28	40AG	100	A+	9	04.0	36.0
3	MBADHR-401 TRAINING & DEVELPMENT	62 30	40AG	100	O	10	04.0	40.0
4	MBADHR-402 STRATEGIC HUMAN RESOURCE MANAGEMENT	63 29	40AG	100	O	10	04.0	40.0
5	MBADHR-403 CHANGE MGT & ORGANISATIONAL DEVELOPMENT	55 30	40AG	100	O	10	04.0	40.0
6	MBADHR-406 TALENT ACQUISITION & PERFORMANCE MGT	62 29	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0650			26.0	232.0
							24.0	232.0

RESULT : RE - TILL JUN- 2027 IN : MBAD-403

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS

DMC No. 000016
Roll No. 23257017
Regn. No. 23-DEO-476

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : SHRISTI JUGRAN
Father's Name : RAJ KUMAR JUGRAN
Mother's Name : SUNITA JUGRAN
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	64 29	40AG	100	O	10	04.0	40.0
2	MBAD-402 ENTREPRENURSHIP DEVELOPMENT	52 29	40AG	100	A+	9	04.0	36.0
3	MBADFM-401 FINANCIAL ENGINEERING	62 30	40AG	100	O	10	04.0	40.0
4	MBADFM-402 PROJECT PLANNING & MANAGEMENT	64 29	40AG	100	O	10	04.0	40.0
5	MBADFM-403 BEHAVIORAL FINANCE	63 30	40AG	100	O	10	04.0	40.0
6	MBADFM-406 PRIVATE EQUITY & WEALTH MANAGEMENT	61 30	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	35	20AG	050	A	8	02.0	16.0
	TOTAL	0578		0650			26.0	252.0
	GRAND TOTAL	0578		0650			26.0	252.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.69

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____

(Clerk)

(Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000017
Roll No. 23257018
Regn. No. 23-DEO-477

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : VISHAKHA
Father's Name : BHAM SINGH
Mother's Name : LATA DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	62 29	40AG	100	O	10	04.0	40.0
2	MBAD-402 ENTREPRENURSHIP DEVELOPMENT	55 28	40AG	100	A+	9	04.0	36.0
3	MBADFM-401 FINANCIAL ENGINEERING	63 28	40AG	100	O	10	04.0	40.0
4	MBADFM-402 PROJECT PLANNING & MANAGEMENT	66 28	40AG	100	O	10	04.0	40.0
5	MBADFM-403 BEHAVIORAL FINANCE	61 26	40AG	100	O	10	04.0	40.0
6	MBADFM-406 PRIVATE EQUITY & WEALTH MANAGEMENT	66 28	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0650			26.0	236.0
							24.0	236.0

RESULT : RE - TILL JUN- 2027 IN : MBAD-403

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000018
Roll No. 23257019
Regn. No. 23-DEO-478

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : AJAY KUMAR
Father's Name : BIRBAL
Mother's Name : ROSHNI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	62 4	40AG	100	A	8	04.0	32.0
2	MBAD-402 ENTREPRENURSHIP DEVELOPMENT	60 18	40AG	100	A+	9	04.0	36.0
3	MBADHR-401 TRAINING & DEVELOPMENT	61 21	40AG	100	A+	9	04.0	36.0
4	MBADHR-402 STRATEGIC HUMAN RESOURCE MANAGEMENT	64 20	40AG	100	A+	9	04.0	36.0
5	MBADHR-403 CHANGE MGT & ORGANISATIONAL DEVELOPMENT	59 23	40AG	100	A+	9	04.0	36.0
6	MBADHR-406 TALENT ACQUISITION & PERFORMANCE MGT	65 20	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0650			26.0	216.0
							24.0	216.0

RESULT : RE - TILL JUN- 2027 IN : MBAD-403

DATED : FEB 02,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000019
Roll No. 23257020
Regn. No. 23-DEO-479

RESULT-cum-DETAILED MARKS CARD
MASTER OF BUSINESS ADMIN SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : NITAKSHI
Father's Name : RAJESH
Mother's Name : POONAM
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-401 BUSINESS ETHICS & CORPORATE GOVERNANCE	63 14	40AG	100	A+	9	04.0	36.0
2	MBAD-402 ENTREPRENEURSHIP DEVELOPMENT	66 28	40AG	100	O	10	04.0	40.0
3	MBADHR-401 TRAINING & DEVELOPMENT	63 30	40AG	100	O	10	04.0	40.0
4	MBADHR-402 STRATEGIC HUMAN RESOURCE MANAGEMENT	61 29	40AG	100	O	10	04.0	40.0
5	MBADHR-403 CHANGE MGT & ORGANISATIONAL DEVELOPMENT	65 29	40AG	100	O	10	04.0	40.0
6	MBADHR-406 TALENT ACQUISITION & PERFORMANCE MGT	62 28	40AG	100	O	10	04.0	40.0
7	MBAD-403 COMPREHENSIVE VIVA-VOCE	05 F	20AG	050	F	0	02.0	0
	TOTAL	***		0650			26.0	236.0
							26.0	236.0

RESULT : RE - TILL JUN- 2027 IN : MBAD-403

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS